

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 3, 2020

Progress Estil	Progress Estimate Number		200117-C04 Ideker, Inc.	Pay Period Start Pay Period End	July 16, 2020 August 1, 2020	Original Contract Amount Net Change Order Amount Current Contract Amount	\$10,026,824.17 \$0.00 \$10,026,824.17
Approval Date							By User
August 3, 2020		G	Generated and A	Approved (and shoul	d be considered D	raft) at the Project Office Level by	kinga1
August 4, 2020		Revie	ewed and Appro	oved (and should be	considered Draft)	at the Resident Engineer Level by	karlic1
August 4, 2020				Reviewed and Appro	ved at the Centra	Office Controllers Office Level by	greggd1
Original Comp	letion Date	Current Complet	ion Date	Actual Comple	tion Date	% of Current Contract Amou	unt Complete
November	1, 2020	November 1,	2020			5.96%	

No Milestones Exist for Contract

Contract Total Pa	y For Estimate No. 2				
		This Estimate	Previous	To Date	
200117-C04					
	Total Posted Items Pay	\$391,720.16	\$205,613.20	\$597,333.36	
	Gross Item Adjustments	(\$90,288.78)	\$0.00	(\$90,288.78)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$205,613.20	\$507,044.58	
Contract Total Pa	yable This Estimate:	\$301,431.38			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4P3249	0210	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$275.300	310.58	\$85,502.67
	0240	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	LF	\$5.000	1,279.4	\$6,397.00
	0250	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$4.700	403	\$1,894.10
	0260	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	TONS	\$245.990	133.51	\$32,842.12
	0270	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	SQYD	\$109.900	745.93	\$81,977.71
	0280	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	TONS	\$197.220	283.79	\$55,969.06
	0290	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	SQYD	\$74.290	1,612.71	\$119,808.23
Project J4F	23249 - To	tal					\$384,390.89
J4P3260	0940	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$369.200	18.66	\$6,889.27
	0970	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	LF	\$5.000	88	\$440.00
Project J4F	23260 - To	tal					\$7,329.27
Overall - T	otal						\$391,720.16

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	<u>Adjust</u>	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4P3249	0210	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	MaterialCredit			534.17	\$275.30	\$147,057.00
	0210	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-844.75	\$275.30	(\$232,559.68)
	0240	FULL DEPTH PAVEMENT	Overrun			-362	\$5.00	(\$1,810.00)

Revision 4/1/2020 Page 1 of 12

-18.66

\$369.20

(\$6,889.27)

\$6,889.27

(\$90,288.78)



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 3, 2020

INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR

FURNISHING AND PLACING

CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT

FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT

J4P3260 0940

Total

0940

RETAINED

REPAIR

REPAIR

Material

Other Item Partial Payment for

Pending

Samples

Prog	gress E	stimate Number 2	Contract Prime Co		00117-C04 eker, Inc.	Pay Period Start Pay Period End	July 16, 2020 August 1, 2020	Net Chang	ontract Amou e Order Amo ontract Amou	unt \$0.0	\$10,026,824.17 \$0.00 \$10,026,824.17	
Project Number	Line No.	Item Descrip	tion	Adjustment Type	Other Iter Adjustmen Type			Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount		
J4P3249		REPAIR SAW (PERIME INTERNAL SA	ETER AND									
	0240	FULL DEPTH PAREPAIR SAW (PERIME INTERNAL SA	CUT (FOR ETER AND	Overrur					-216.4	\$5.00	(\$1,082.00	
	0250	DOWEL BAR (FUF AND INSTALLAT BASKETS) I DEPTH PAVEMEN	ION WITH	MaterialCredi	t				807	\$4.70	\$3,792.9	
	0250	DOWEL BAR (FUR AND INSTALLAT BASKETS) I DEPTH PAVEMEN	ION WITH	Materia					-1,210	\$4.70	(\$5,687.0	
	0300	CONSTRUCTION	ON SIGNS	MaterialCredi	t				667.9	\$5.50	\$3,673.4	
	0300	CONSTRUCTION	ON SIGNS	Materia	ı				-667.9	\$5.50	(\$3,673.4	
	0310	ADVANCED WARN	NING RAIL SYSTEM	MaterialCredi	t				4	\$80.00	\$320.0	
	0310	ADVANCED WARN	NING RAIL SYSTEM	Materia	I				-4	\$80.00	(\$320.0	
	0320	FLAG A	SSEMBLY	MaterialCredi	t				12	\$20.00	\$240.0	
	0320	FLAG A	SSEMBLY	Materia	I				-12	\$20.00	(\$240.0	
	0330	CHANNELIZER (T	RIM LINE)	MaterialCredi	t				350	\$12.00	\$4,200.0	
	0330	CHANNELIZER (T	RIM LINE)	Materia	I				-350	\$12.00	(\$4,200.0	
	0340	TYPE III M BA	OVEABLE RRICADE	MaterialCredi	t				6	\$125.00	\$750.0	
	0340	TYPE III M BA	OVEABLE RRICADE	Materia	1				-6	\$125.00	(\$750.0	
	0350	FLASHING ARRO	W PANEL	MaterialCredi	t				2	\$750.00	\$1,500.0	
	0350	FLASHING ARRO	W PANEL	Materia					-2	\$750.00	(\$1,500.0	
	0370	COMMUI INTERFACE, CON FURNISHED, CON	WITHOUT NICATION TRACTOR	MaterialCredi	t				2	\$4,325.00	\$8,650.0	
	0370		WITHOUT NICATION	Materia	1				-2	\$4,325.00	(\$8,650.0	

Revision 4/1/2020 Page 2 of 12

Payment made for completed work. Working with Materials and QC to resolve exception

related to system-generated deduction.



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Informati	on				
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work				
J4P3249	FAF 291-1(86)	Coldmill and resurface	291	CLAY	from Leonard St to Route 7	8					
J4P3260	FAF 291-1(88)	Coldmill and resurface	291	CLAY	from I-435 to north of Kansa	as Street					
Γotals by .	Job Numbe	rs									
J4P3249		d Item Pay Item Adjustmo		Item Pay	This Estimate \$384,390.89 (\$90,288.78) \$294,102.11	\$384,390.89 \$205,613.20 \$590,004.09 (\$90,288.78) \$0.00 (\$90,288.78)					
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				
J4P3260		d Item Pay Item Adjustmo		Item Pay	This Estimate \$7,329.27 \$0.00 \$7,329.27	Previous \$0.00 \$0.00 \$0.00	To Date \$7,329.27 \$0.00 \$7,329.27				
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				

Revision 4/1/2020 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4P3260, Item 6131010, Project Item Line Number 0940, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Working with QC and KCMA to resolve	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3260, Item 6131010, Project Item Line Number 0940, Material Set 613101096, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6131010, Project Item Line Number 0210, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6131010, Project Item Line Number 0210, Material Set 613101096, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6131017, Project Item Line Number 0250, Material Set 613101796, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6131017, Project Item Line Number 0250, Material Set 613101796, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6131017, Project Item Line Number 0250, Material Set 613101796, Material 1057JMDBEC6.11 - Dowel Bar Epoxy Ctd Gr60 1 1/4 @, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6161005, Project Item Line Number 0300, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6161008, Project Item Line Number 0310, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6161009, Project Item Line Number 0320, Material Set 616100996, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6161025, Project Item Line Number 0330, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6161030, Project Item Line Number 0340, Material Set 616103096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6161040, Project Item Line Number 0350, Material Set 616104096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4P3249, Item 6161098A, Project Item Line Number 0370, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	kinga1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200117-C04, Contract Project J4P3249, Project Item Line Number 0240, Contract Line Item Number 0240, Item 6131014, Minor Item.	No Remark was entered by Engineer	kinga1	Acknowledged

Revision 4/1/2020 Page 4 of 12



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200117-C04	J4P3249	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$89,601.00	\$0.00
		0001	0020	2063000	CLASS 3 EXCAVATION	17.00	0.00	17.00	CUYD	0.00	\$12.00	\$0.00
		0001	0030	2072000	LINEAR GRADING CLASS 2	1.00	0.00	1.00	STA	0.00	\$6,000.00	\$0.00
		0001	0040	2153000	SHAPING SLOPES, CLASS III	41.00	0.00	41.00	100F	0.00	\$950.00	\$0.00
		0001	0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	91.00	0.00	91.00	SQYD	0.00	\$56.00	\$0.00
		0001	0060	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	877.60	0.00	877.60	TONS	0.00	\$61.91	\$0.00
		0001	0070	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	20,808.00	0.00	20,808.00	TONS	0.00	\$68.64	\$0.00
		0001	0080	4019905	MISC.OPTIONAL PAVEMENT	85.00	0.00	85.00	SQYD	0.00	\$69.20	\$0.00
		0001	0090	4030114	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125B MIX)	44,254.00	0.00	44,254.00	TONS	0.00	\$54.44	\$0.00
		0001	0100	4071005	TACK COAT	44,581.00	0.00	44,581.00	GAL	0.00	\$2.25	\$0.00
		0001	0110	4079912	MISC.POLYMER MODIFIED EMULSION MEMBRANE	29,370.00	0.00	29,370.00	GAL	0.00	\$4.45	\$0.00
		0001	0120	4133100	ULTRATHIN BONDED WEARING SURFACE, TYPE B	27,112.00	0.00	27,112.00	SQYD	0.00	\$5.17	\$0.00
		0001	0130	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	6.00	0.00	6.00	SQYD	0.00	\$156.40	\$0.00
		0001	0140	6044012	PIPE COLLAR, TYPE B	1.00	0.00	1.00	EA	0.00	\$1,900.00	\$0.00
		0001	0150	6081000	CONCRETE MEDIAN	346.00	0.00	346.00	SQYD	0.00	\$83.30	\$0.00
		0001	0160	6083006	6 IN. CONCRETE MEDIAN STRIP	13.00	0.00	13.00	SQYD	0.00	\$222.35	\$0.00
		0001	0170	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	470.00	0.00	470.00	LF	0.00	\$28.95	\$0.00
		0001	0180	6113020	FURNISHING TYPE 2 ROCK BLANKET	123.00	0.00	123.00	CUYD	0.00	\$56.00	\$0.00
		0001	0190	6113040	PLACING TYPE 2 ROCK BLANKET	734.00	0.00	734.00	CUYD	0.00	\$31.00	\$0.00
		0001	0200	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.00
		0001	0210	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	920.00	0.00	920.00	SQYD	844.75	\$275.30	\$232,559.68
		0001	0220	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	92.00	0.00	92.00	SQYD	0.00	\$1.20	\$0.00
		0001	0230	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	92.00	0.00	92.00	SQYD	0.00	\$1.20	\$0.00
		0001	0240	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	2,892.00	0.00	2,892.00	LF	3,470.40	\$5.00	\$17,352.00
		0001	0250	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	2,300.00	0.00	2,300.00	EA	1,210.00	\$4.70	\$5,687.00
		0001	0260	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	193.10	0.00	193.10	TONS	155.25	\$245.99	\$38,189.95
		0001	0270	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	877.70	0.00	877.70	SQYD	819.89	\$109.90	\$90,105.91
		0001	0280	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	427.70	0.00	427.70	TONS	310.95	\$197.22	\$61,325.56
		0001	0290	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	1,944.40	0.00	1,944.40	SQYD	1,688.66	\$74.29	\$125,450.55
		0001	0300	6161005	CONSTRUCTION SIGNS	1,457.00	0.00	1,457.00	SQFT	667.90	\$5.50	\$3,673.45
		0001	0310	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$80.00	\$320.00
		0001	0320	6161009	FLAG ASSEMBLY	14.00	0.00	14.00	EA	12.00	\$20.00	\$240.00
		0001	0330	6161025	CHANNELIZER (TRIM LINE)	350.00	0.00	350.00	EA	350.00	\$12.00	\$4,200.00
		0001	0340	6161030	TYPE III MOVEABLE BARRICADE	6.00	0.00	6.00	EA	6.00	\$125.00	\$750.00
		0001	0350	6161040	FLASHING ARROW PANEL	3.00	0.00	3.00	EA	2.00	\$750.00	\$1,500.00
		0001	0360	6161055	SEQUENTIAL FLASHING WARNING LIGHT	36.00	0.00	36.00	EA	0.00	\$65.00	\$0.00
		0001	0370	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	2.00	\$4,325.00	\$8,650.00
		0001	0380	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$372,690.08	\$0.00
		0001	0390	6200003	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 4 IN., WHITE	2,659.00	0.00	2,659.00	LF	0.00	\$3.30	\$0.00
		0001	0400	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	9,750.00	0.00	9,750.00	LF	0.00	\$3.65	\$0.00
		0001	0410	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	1,429.00	0.00	1,429.00	LF	0.00	\$18.00	\$0.00
		0001	0420	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	72.00	0.00	72.00	EA	0.00	\$180.00	\$0.00
		0001	0430	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	3.00	0.00	3.00	EA	0.00	\$400.00	\$0.00

Revision 4/1/2020 Page 5 of 12



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract .CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
117-C04	J4P3249	0001	0440	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	84.00	0.00	84.00	EA	0.00	\$180.00	\$0.0
		0001	0460	6205902A	$6\mbox{IN}.$ WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	159,738.00	0.00	159,738.00	LF	0.00	\$0.17	\$0.0
		0001	0470	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	128,862.00	0.00	128,862.00	LF	0.00	\$0.18	\$0.0
		0001	0480	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	4,769.00	0.00	4,769.00	LF	0.00	\$0.60	\$0.0
		0001	0490	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	44,480.00	0.00	44,480.00	LF	0.00	\$0.13	\$0.0
		0001	0495	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	42,911.00	0.00	42,911.00	LF	0.00	\$0.13	\$0.0
		0001	0500	6214600A	FLOWABLE BACKFILL	1.00	0.00	1.00	CUYD	0.00	\$1,005.00	\$0.
		0001	0510	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	439,301.00	0.00	439,301.00	SQYD	0.00	\$0.91	\$0.
		0001	0520	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	22,447.00	0.00	22,447.00	SQYD	0.00	\$5.81	\$0.
		0001	0530	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,625.00	0.00	1,625.00	STA	0.00	\$20.83	\$0.
		0001	0540	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$15,000.00	\$0.
		0001	0550	7250312A	12 IN. PIPE GROUP B	17.00	0.00	17.00	LF	0.00	\$91.00	\$0.
		0001	0560	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	4.00	0.00	4.00	FT	0.00	\$903.00	\$0.
		0001	0570	8061007A	CURB INLET CHECK	2.00	0.00	2.00	EA	0.00	\$154.00	\$0
		0001	0580	8061016	SEDIMENT REMOVAL	2.00	0.00	2.00	CUYD	0.00	\$175.00	\$0
		0001	0590	8064139	TYPE 3A EROSION CONTROL BLANKET	1,100.00	0.00	1,100.00	SQYD	0.00	\$3.40	\$0
		0010	0600	6061060	MGS GUARDRAIL	11,613.00	0.00	11,613.00	LF	0.00	\$18.50	\$0
		0010	0610	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED	8,613.00 32.00	0.00	8,613.00 32.00	LF EA	0.00	\$21.50 \$2,800.00	\$0
					CURB)							
		0010	0630	6061080 6063014	MGS END ANCHOR	16.00	0.00	16.00 39.00	EA EA	0.00	\$800.00	\$0
		0010	0650	9014003	TYPE A CRASHWORTHY END TERMINAL (MASH) CONDUIT, 3 IN. RIGID, PUSHED	39.00 99.00	0.00	99.00	LF	0.00	\$2,450.00 \$43.50	\$0 \$0
		0020	0660	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE	130.00	0.00	130.00	LF	0.00	\$8.80	\$0
		0070	0670	2161502	NEUTRAL, 8 AWG REMOVAL OF CONCRETE WEARING SURFACE	6,238.00	0.00	6,238.00	SQFT	0.00	\$3.50	\$0
		0070	0680	7034600	CURB BLOCKOUT	364.00	0.00	364.00	LF	0.00	\$86.50	\$0
		0070	0690	7040104	HALF-SOLE REPAIR	600.00	0.00	600.00	SQFT	0.00	\$48.00	\$0
		0070	0700	7040106	FULL DEPTH REPAIR	100.00	0.00	100.00	SQFT	0.00	\$69.00	\$0
	Project J	1P3249 - To	otal Value	Posted to D	ate as of Report Generated Date							\$590,004
	J4P3260	0001	0710	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$43,551.00	\$0
		0001	0720	2031000	CLASS A EXCAVATION	2,164.00	0.00	2,164.00	CUYD	0.00	\$39.00	\$0
		0001	0730	2036000	COMPACTING EMBANKMENT	218.00	0.00	218.00	CUYD	0.00	\$3.00	\$0
		0001	0740	2037075	COMPACTING IN CUT	35.00	0.00	35.00	STA	0.00	\$357.00	\$0
		0001	0750	2063000	CLASS 3 EXCAVATION	12.00	0.00	12.00	CUYD	0.00	\$12.00	\$0
		0001	0760	2071000	LINEAR GRADING CLASS 1	1.00	0.00	1.00	STA	0.00	\$1,895.00	\$0
		0001	0770	2072000	LINEAR GRADING CLASS 2	10.00	0.00	10.00	STA	0.00	\$1,045.00	\$0
		0001	0780	2153000	SHAPING SLOPES, CLASS III	5.00	0.00	5.00	100F	0.00	\$950.00	\$0
		0001	0790	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	1,345.00	0.00	1,345.00	SQYD	0.00	\$20.00	\$0
		0001	0800	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	82.00	0.00	82.00	TONS	0.00	\$380.73	\$0
		0001	0810	4010151	TYPE A3 SHOULDER	533.00	0.00	533.00	SQYD	0.00	\$51.25	\$0
		0001	0820	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	5,299.00	0.00	5,299.00	TONS	0.00	\$64.53	\$0
		0001	0830	4019905 4030005	MISC.OPTIONAL PAVEMENT ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP095C MIX)	12 363 00	0.00	12,363.00	SQYD	0.00	\$63.60 \$64.98	\$0
		0001	0850	4030005	TACK COAT	12,363.00 17,957.00	0.00	17,957.00	GAL	0.00	\$64.98	\$0. \$0.
		0001										\$0.
		0001	0860	4079912	MISC.POLYMER MODIFIED EMULSION MEMBRANE	1,340.00	0.00	1,340.00	GAL	0.00	\$2.50	¢

Revision 4/1/2020 Page 6 of 12



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo	Bid Quantity	Net Change Order	Total Current Quantity	s Gener Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200117-C04	J4P3260	0001	0870	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	12.00	0.00	12.00	SQYD	0.00	\$200.60	\$0.00
		0001	0880	6081010	CONCRETE CURB RAMP	10.00	0.00	10.00	SQYD	0.00	\$445.80	\$0.00
		0001	0890	6081012	TRUNCATED DOMES	48.00	0.00	48.00	SQFT	0.00	\$16.90	\$0.00
		0001	0900	6086004	CONCRETE SIDEWALK, 4 IN.	1,005.00	0.00	1,005.00	SQYD	0.00	\$48.25	\$0.00
		0001	0910	6099903	MISC.KCMO CURB & GUTTER TYPE CG-1	332.00	0.00	332.00	LF	0.00	\$31.90	\$0.00
		0001	0920	6099903	MISC.KCMO CURB & GUTTER TYPE CG-2	56.00	0.00	56.00	LF	0.00	\$55.10	\$0.00
		0001	0930	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.00
		0001	0940	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	739.00	0.00	739.00	SQYD	18.66	\$369.20	\$6,889.27
		0001	0950	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	495.00	0.00	495.00	SQYD	0.00	\$5.57	\$0.00
		0001	0960	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	495.00	0.00	495.00	SQYD	0.00	\$23.08	\$0.00
		0001	0970	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	1,204.00	0.00	1,204.00	LF	88.00	\$5.00	\$440.00
		0001	0980	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	380.00	0.00	380.00	EA	0.00	\$5.20	\$0.00
		0001	0990	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	230.00	0.00	230.00	EA	0.00	\$7.05	\$0.00
		0001	1000	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	161.40	0.00	161.40	TONS	0.00	\$219.86	\$0.00
		0001	1010	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	734.20	0.00	734.20	SQYD	0.00	\$229.52	\$0.00
		0001	1020	6141024	GRATE AND BEARING PLATE (5 FT. X 3 FT. OR 1524 MM X 914	1.00	0.00	1.00	EA	0.00	\$1,990.00	\$0.00
		0001	1030	6143013	MM) MANHOLE FRAME AND COVER, TYPE 3	1.00	0.00	1.00	EA	0.00	\$628.00	\$0.00
		0001	1040	6161005	CONSTRUCTION SIGNS	1,491.00	0.00	1,491.00	SQFT	0.00	\$5.50	\$0.00
		0001	1050	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$80.00	\$0.00
		0001	1060	6161009	FLAG ASSEMBLY	14.00	0.00	14.00	EA	0.00	\$20.00	\$0.00
		0001	1070	6161025	CHANNELIZER (TRIM LINE)	350.00	0.00	350.00	EA	0.00	\$12.00	\$0.00
		0001	1080	6161030	TYPE III MOVEABLE BARRICADE	6.00	0.00	6.00	EA	0.00	\$125.00	\$0.00
		0001	1090	6161040	FLASHING ARROW PANEL	3.00	0.00	3.00	EA	0.00	\$750.00	\$0.00
		0001	1100	6161055	SEQUENTIAL FLASHING WARNING LIGHT	36.00	0.00	36.00	EA	0.00	\$65.00	\$0.00
		0001	1110	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	0.00	\$3,650.00	\$0.00
		0001	1120	6169902	MISC.ADA COMPLIANT MOVABLE BARRICADE	4.00	0.00	4.00	EA	0.00	\$65.00	\$0.00
		0001	1130	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$162,039.28	\$0.00
		0001	1140	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	12,914.00	0.00	12,914.00	LF	0.00	\$3.65	\$0.00
		0001	1150	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	1,650.00	0.00	1,650.00	LF	0.00	\$18.00	\$0.00
		0001	1160	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	172.00	0.00	172.00	EA	0.00	\$180.00	\$0.00
		0001	1170	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	5.00	0.00	5.00	EA	0.00	\$180.00	\$0.00
		0001	1180	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	6.00	0.00	6.00	EA	0.00	\$400.00	\$0.00
		0001	1185	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD	8.00	0.00	8.00	EA	0.00	\$400.00	\$0.00
		0001	1190	6200036	(ONLY) PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	195.00	0.00	195.00	EA	0.00	\$180.00	\$0.00
		0001	1200	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	90,209.00	0.00	90,209.00	LF	0.00	\$0.14	\$0.00
		0001	1210	6205902A	MARKING PAINT, TYPE L BEADS 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	69,551.00	0.00	69,551.00	LF	0.00	\$0.18	\$0.00
		0001	1220	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	7,466.00	0.00	7,466.00	LF	0.00	\$0.20	\$0.00
		0001	1230	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	237.00	0.00	237.00	LF	0.00	\$2.50	\$0.00
		0001	1240	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,834.00	0.00	1,834.00	LF	0.00	\$0.16	\$0.00
		0001	1244	6200003	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 4 IN., WHITE	2,379.00	0.00	2,379.00	LF	0.00	\$3.30	\$0.00
		0001	1248	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,014.00	0.00	2,014.00	LF	0.00	\$0.16	\$0.00

Page 7 of 12 Revision 4/1/2020



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Project Category Line Item Description Bid Net Total Unit Total Unit Price Total Value POSTED

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200117-C04	J4P3260	0001	1250	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	350.00	0.00	350.00	LF	0.00	\$3.00	\$0.00
		0001	1260	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,132.00	0.00	2,132.00	LF	0.00	\$3.00	\$0.00
		0001	1264	6207001	PAVEMENT MARKING REMOVAL	7,693.00	0.00	7,693.00	LF	0.00	\$1.00	\$0.00
		0001	1266	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	80.00	0.00	80.00	EA	0.00	\$45.00	\$0.00
		0001	1270	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	180,467.00	0.00	180,467.00	SQYD	0.00	\$1.96	\$0.00
		0001	1280	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4,366.00	0.00	4,366.00	SQYD	0.00	\$5.50	\$0.00
		0001	1290	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	345.30	0.00	345.30	STA	0.00	\$23.21	\$0.00
		0001	1300	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$0.00
		0001	1310	7250324A	24 IN. PIPE GROUP B	6.00	0.00	6.00	LF	0.00	\$209.00	\$0.00
		0001	1320	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	2.00	0.00	2.00	FT	0.00	\$1,850.00	\$0.00
		0001	1330	7320624A	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$1,415.00	\$0.00
		0001	1340	8051000A	SEEDING - COOL SEASON MIXTURES	2.10	0.00	2.10	ACRE	0.00	\$3,070.00	\$0.00
		0001	1350	8061004	SEDIMENT TRAP ROCK	20.00	0.00	20.00	CUYD	0.00	\$73.00	\$0.00
		0001	1360	8061005	ROCK DITCH CHECK	36.00	0.00	36.00	LF	0.00	\$40.00	\$0.00
		0001	1370	8061006	ALTERNATE DITCH CHECK	1,013.00	0.00	1,013.00	LF	0.00	\$16.00	\$0.00
		0001	1380	8061007A	CURB INLET CHECK	4.00	0.00	4.00	EA	0.00	\$126.00	\$0.00
		0001	1390	8061016	SEDIMENT REMOVAL	146.00	0.00	146.00	CUYD	0.00	\$35.00	\$0.00
		0001	1400	8061019	SILT FENCE	7,156.00	0.00	7,156.00	LF	0.00	\$3.00	\$0.00
		0001	1410	8064129	TYPE 2 TURF REINFORCEMENT MAT	1,451.00	0.00	1,451.00	SQYD	0.00	\$4.96	\$0.00
		0010	1420	6061060	MGS GUARDRAIL	1,088.00	0.00	1,088.00	LF	0.00	\$18.50	\$0.00
		0010	1430	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	738.00	0.00	738.00	LF	0.00	\$21.50	\$0.00
		0010	1440	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	3.00	0.00	3.00	EA	0.00	\$2,800.00	\$0.00
		0010	1450	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	7.00	0.00	7.00	EA	0.00	\$2,450.00	\$0.00
		0030	1460	9020213	SIGNAL HEAD, TYPE 3S	1.00	0.00	1.00	EA	0.00	\$2,449.00	\$0.00
		0030	1470	9020811	SIGNAL HEAD, TYPE 1S, PEDESTRIAN	2.00	0.00	2.00	EA	0.00	\$1,964.00	\$0.00
		0030	1480	9020833	SH-FLAT SHEET - SIGNAL SIGN	2.00	0.00	2.00	SQFT	0.00	\$277.00	\$0.00
		0030	1490	9020834	SIGNAL SIGN, MOUNTING HARDWARE	2.00	0.00	2.00	EA	0.00	\$220.00	\$0.00
		0030	1500	9022708	POST, SIGNAL 8 FT. OR 2.4 M	2.00	0.00	2.00	EA	0.00	\$2,241.00	\$0.00
		0030	1510	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	43.00	0.00	43.00	LF	0.00	\$38.00	\$0.00
		0030	1520	9025400	CONDUIT, 4 IN., TRENCH WITH TRACER WIRE	24.00	0.00	24.00	LF	0.00	\$38.00	\$0.00
		0030	1530	9027400	CONDUIT, 4 IN., PUSHED WITH TRACER WIRE	126.00	0.00	126.00	LF	0.00	\$44.10	\$0.00
		0030	1540	9028308	CABLE, 16 AWG 2 CONDUCTOR	270.00	0.00	270.00	LF	0.00	\$2.80	\$0.00
		0030	1550	9028310	CABLE, 16 AWG 5 CONDUCTOR	270.00	0.00	270.00	LF	0.00	\$3.20	\$0.00
		0030	1560	9028311	CABLE, 16 AWG 7 CONDUCTOR	130.00	0.00	130.00	LF	0.00	\$3.60	\$0.00
		0030	1570	9028811	PULL BOX, PREFORMED CLASS 2	2.00	0.00	2.00	EA	0.00	\$2,341.00	\$0.00
		0030	1580	9029100	BASE, CONCRETE	0.90	0.00	0.90	CUYD	0.00	\$3,736.00	\$0.00
		0030	1590	9029902	MISC.ACCESSIBLE PEDESTRIAN SIGNAL (PUSHBUTTONS)	2.00	0.00	2.00	EA	0.00	\$2,380.00	\$0.00
		0040	1600	9039902	MISC.RELOCATION OF EXISTING SIGN ASSEMBLIES	4.00	0.00	4.00	EA	0.00	\$2,500.00	\$0.00
	Project J	4P3260 - To	tal Value	Posted to D	Jate as of Report Generated Date							\$7,329.27
200117-C04 Ove	rall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$597,333.37

Revision 4/1/2020 Page 8 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

$\underline{\textbf{The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.}$

Project: J4P3249

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0210	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	7/16/20	8/3/20	98.66	SQYD	J4P3249 Lane 1 SB patching					
			7/17/20	8/3/20	56.32	SQYD	291					
			7/21/20	8/3/20	48.00	SQYD	Truman Rd					
			7/23/20	8/3/20	107.60	SQYD	SB 291 from 7/15/2020					
0240	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	7/16/20	8/3/20	362.00	LF	J4P3249 Lane 1 SB patching					
			7/17/20	8/3/20	292.00	LF	291					
			7/21/20	8/3/20	150.00	LF	Truman Rd					
			7/23/20	8/3/20	475.40	LF	SB 291 from 7/15/2020					
0250	6131017	DOWEL BAR (FURNISH AND INSTALL WITH BASK	7/16/20	8/3/20	139.00	EA	J4P3249 Lane 1 SB patching					
			7/17/20	8/3/20	105.00	EA	291					
			7/23/20	8/3/20	159.00	EA	SB 291 from 7/15/2020					
0260	6133018	FURN & PLACE BIT. MATL FOR CL B PARTIAL	7/16/20	8/3/20	45.62	TONS	Truman Rd Finished Lane 2; Lane 1 and Suicide lane					
			7/17/20	8/3/20	41.55	TONS	Truman Rd and ramps to/from SB 291					
			7/18/20	8/3/20	46.34	TONS	NB 291 ramps to/from Truman Rd					
0270	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVT R	7/16/20	8/3/20	330.90	SQYD	Truman Rd Finished Lane 2; Lane 1 and Suicide lane					
			7/17/20	8/3/20	117.94	SQYD	Truman Rd and ramps to/from SB 291					
			7/18/20	8/3/20	297.09	SQYD	NB 291 ramps to/from Truman Rd					
0280	6133020	FURN & PLACE BIT. MATL FOR CL C PARTIAL	7/21/20	8/3/20	30.00	TONS	291 NB Lane 1 from 23rd St to Kentucky and SB Lane 1 from Kentucky to MO24					
			7/22/20	8/3/20	49.82	TONS	SB 291 Lane 2 from Kentucky to MO24 NB 291 Lane 2 from MO24 to Kentucky On ramp from MO24 to NB 291 NB 291 and Courtney Intersection NB 291 Lane 2 from River bridge to 210					
			7/23/20	8/3/20	56.96	TONS	NB 291 Lane 1 from River bridge to 210 SB 291 Lane 1 from 210 to River bridge					
			7/24/20	8/3/20	147.01	TONS	NB and SB 291 all lanes between 210 and Leonard					
0290	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	7/21/20	8/3/20	192.49	SQYD	291 NB Lane 1 from 23rd St to Kentucky and SB Lane 1 from Kentucky to MO24					
			7/22/20	8/3/20	391.83	SQYD	SB 291 Lane 2 from Kentucky to MO24 NB 291 Lane 2 from MO24 to Kentucky On ramp from MO24 to NB 291 NB 291 and Courtney Intersection NB 291 Lane 2 from River bridge to 210					
			7/23/20	8/3/20	259.61	SQYD	NB 291 Lane 1 from River bridge to 210 SB 291 Lane 1 from 210 to River bridge					
			7/24/20	8/3/20	768.78	SQYD	NB and SB 291 all lanes between 210 and Leonard					

Project: J4P3260

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	Offset/ Distance	Offset/ Distance	Comments
0940	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	7/21/20	8/3/20	18.66	SQYD	NB 291 patches 52 & 55			
0970	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	7/21/20	8/3/20	88.00	LF	NB 291 patches 52 & 55			

The information below this line are details from Line Item agency views.

No Agency View Details Exist

Revision 4/1/2020 Page 9 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line		Adjustment	Other	Est.	Created	Created	Amount	Remarks
	Description	Туре	Adjustment Type	Number	Date	Ву	Amount	Nomens
0210	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		1	Jul 17, 2020	SYSTEM	(\$147,057.00)	
				2	Aug 3, 2020	SYSTEM	(\$232,559.68)	
		- Total				(\$379,616.68)		
N	Material - Total					(\$379,616.68)		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	MaterialCredit		2	Aug 3, 2020	SYSTEM	\$147,057.00	
			- Total				\$147,057.00	
N	MaterialCredit - Total					\$147,057.00		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR		PPPS	1	Jul 17, 2020	kinga1	\$147,057.00	Payment made for completed work. Working with Materials and QC to resolve exception related to system-generated deduction.
			PPPS - Total				\$147,057.00	
C	Other Item Adjustment - Total						\$147,057.00	
0210 - T	otal						(\$85,502.68)	
0240	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	Overrun	Overrun	2	Aug 3, 2020	SYSTEM	(\$2,892.00)	
			Overrun - Total				(\$2,892.00)	
C	Overrun - Total						(\$2,892.00)	
0240 - T	otal						(\$2,892.00)	
0250	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT	Material		1	Jul 17, 2020	SYSTEM	(\$3,792.90)	
	REPAIR			2	Aug 3, 2020	SYSTEM	(\$5,687.00)	
					(\$9,479.90)			
N	Material - Total						(\$9,479.90)	
	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	MaterialCredit		2	Aug 3, 2020	SYSTEM	\$3,792.90	
					\$3,792.90			
N	MaterialCredit - Total					\$3,792.90		
	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Other Item Adjustment	PPPS	1	Jul 17, 2020	kinga1	\$3,792.90	Payment made for completed work. Working with Materials and QC to resolve exception related to system-generated deduction.
		PPPS - Total				\$3,792.90		
C	Other Item Adjustment - Total				\$3,792.90			
0250 - T	otal						(\$1,894.10)	
0300	CONSTRUCTION SIGNS	Material		1	Jul 17, 2020	SYSTEM	(\$3,673.45)	
				2	Aug 3, 2020	SYSTEM	(\$3,673.45)	
			- Total				(\$7,346.90)	
N	Material - Total						(\$7,346.90)	
	CONSTRUCTION SIGNS	MaterialCredit		2	Aug 3, 2020	SYSTEM	\$3,673.45	
		- Total				\$3,673.45		
N	MaterialCredit - Total						\$3,673.45	
	CONSTRUCTION SIGNS	Other Item Adjustment	PPPS	1	Jul 17, 2020	kinga1	\$3,673.45	Payment made for completed work. Working with Materials and QC to resolve exception related to system-generated deduction.
					\$3,673.45			
C	Other Item Adjustment - Total				\$3,673.45			
0300 - T	otal			\$0.00				
0310	ADVANCED WARNING RAIL SYSTEM	Material		1	Jul 17, 2020	SYSTEM	(\$320.00)	
				2	Aug 3, 2020	SYSTEM	(\$320.00)	
		- Total				(\$640.00)		

Revision 4/1/2020 Page 10 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Lina	Description	A diverse and	Other	Est.	Created	Created	Amarint	Damadia
Line	Description	Adjustment Type	Adjustment Type	Number	Date	By	Amount	Remarks
0310	Material - Total						(\$640.00)	
	ADVANCED WARNING RAIL SYSTEM	MaterialCredit		2	Aug 3, 2020	SYSTEM	\$320.00	
			- Total				\$320.00	
	MaterialCredit - Total						\$320.00	
	ADVANCED WARNING RAIL SYSTEM	Other Item Adjustment	PPPS	1	Jul 17, 2020	kinga1	\$320.00	Payment made for completed work. Working with Materials and QC to resolve exception related to system-generated deduction.
			PPPS - Tota	ıl			\$320.00	
	Other Item Adjustment - Total				\$320.00			
0310 -	- Total						\$0.00	
0320	FLAG ASSEMBLY	Material		1	Jul 17, 2020	SYSTEM	(\$240.00)	
				2	Aug 3, 2020	SYSTEM	(\$240.00)	
			- Total				(\$480.00)	
	Material - Total						(\$480.00)	
	FLAG ASSEMBLY	MaterialCredit		2	Aug 3, 2020	SYSTEM	\$240.00	
			- Total				\$240.00	
	MaterialCredit - Total					\$240.00		
	FLAG ASSEMBLY	Other Item Adjustment	PPPS	1	Jul 17, 2020	kinga1	\$240.00	Payment made for completed work. Working with Materials and QC to resolve exception related to system-generated deduction.
					\$240.00			
	Other Item Adjustment - Total				\$240.00			
0320	- Total						\$0.00	
0330	CHANNELIZER (TRIM LINE)	Material		1	Jul 17, 2020	SYSTEM	(\$4,200.00)	
				2	Aug 3, 2020	SYSTEM	(\$4,200.00)	
		- Total				(\$8,400.00)		
	Material - Total					(\$8,400.00)		
	CHANNELIZER (TRIM LINE)	MaterialCredit		2	Aug 3, 2020	SYSTEM	\$4,200.00	
			- Total				\$4,200.00	
	MaterialCredit - Total						\$4,200.00	
	CHANNELIZER (TRIM LINE)	Other Item Adjustment	PPPS	1	Jul 17, 2020	kinga1	\$4,200.00	Payment made for completed work. Working with Materials and QC to resolve exception related to system-generated deduction.
		PPPS - Total				\$4,200.00		
		Other Item Adjustment - Total						
	Other Item Adjustment - Total						\$4,200.00	
0330 -	Other Item Adjustment - Total - Total						\$4,200.00 \$0.00	
0330 -		Material		1	Jul 17, 2020	SYSTEM		
	- Total	Material		1 2		SYSTEM SYSTEM	\$0.00	
	- Total	Material	- Total		2020 Aug 3,		\$0.00 (\$750.00)	
	- Total	Material	- Total		2020 Aug 3,		\$0.00 (\$750.00) (\$750.00)	
	- Total TYPE III MOVEABLE BARRICADE		- Total		2020 Aug 3,		\$0.00 (\$750.00) (\$750.00) (\$1,500.00)	
	TYPE III MOVEABLE BARRICADE Material - Total		- Total	2	2020 Aug 3, 2020	SYSTEM	\$0.00 (\$750.00) (\$750.00) (\$1,500.00)	
	TYPE III MOVEABLE BARRICADE Material - Total			2	2020 Aug 3, 2020	SYSTEM	\$0.00 (\$750.00) (\$750.00) (\$1,500.00) (\$1,500.00)	
	TYPE III MOVEABLE BARRICADE Material - Total TYPE III MOVEABLE BARRICADE			2	2020 Aug 3, 2020	SYSTEM	\$0.00 (\$750.00) (\$750.00) (\$1,500.00) (\$1,500.00) \$750.00	Payment made for completed work. Working with Materials and QC to resolve exception related to system-generated deduction.
	Total TYPE III MOVEABLE BARRICADE Material - Total TYPE III MOVEABLE BARRICADE MaterialCredit - Total	MaterialCredit Other Item	- Total	2	2020 Aug 3, 2020 Aug 3, 2020	SYSTEM	\$0.00 (\$750.00) (\$750.00) (\$1,500.00) (\$1,500.00) \$750.00 \$750.00	Materials and QC to resolve exception related to
	Total TYPE III MOVEABLE BARRICADE Material - Total TYPE III MOVEABLE BARRICADE MaterialCredit - Total	MaterialCredit Other Item	- Total	2	2020 Aug 3, 2020 Aug 3, 2020	SYSTEM	\$0.00 (\$750.00) (\$750.00) (\$1,500.00) (\$1,500.00) \$750.00 \$750.00 \$750.00	Materials and QC to resolve exception related to
	TYPE III MOVEABLE BARRICADE Material - Total			2	2020 Aug 3, 2020	SYSTEM	\$0.00 (\$750.00) (\$750.00) (\$1,500.00) (\$1,500.00)	
	Total TYPE III MOVEABLE BARRICADE Material - Total TYPE III MOVEABLE BARRICADE MaterialCredit - Total	MaterialCredit Other Item	- Total	2	2020 Aug 3, 2020 Aug 3, 2020	SYSTEM	\$0.00 (\$750.00) (\$750.00) (\$1,500.00) (\$1,500.00) \$750.00 \$750.00 \$750.00	Materials and QC to resolve exception related to
	TYPE III MOVEABLE BARRICADE Material - Total TYPE III MOVEABLE BARRICADE MaterialCredit - Total TYPE III MOVEABLE BARRICADE	MaterialCredit Other Item	- Total	2	2020 Aug 3, 2020 Aug 3, 2020	SYSTEM	\$0.00 (\$750.00) (\$750.00) (\$1,500.00) (\$1,500.00) \$750.00 \$750.00 \$750.00	Materials and QC to resolve exception related to

Revision 4/1/2020 Page 11 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0350	FLASHING ARROW PANEL	Material		1	Jul 17, 2020	SYSTEM	(\$1,500.00)	
				2	Aug 3, 2020	SYSTEM	(\$1,500.00)	
			- Total				(\$3,000.00)	
	Material - Total			(\$3,000.00)				
	FLASHING ARROW PANEL	MaterialCredit		2	Aug 3, 2020	SYSTEM	\$1,500.00	
		- Total	- Total			\$1,500.00		
	MaterialCredit - Total						\$1,500.00	
	FLASHING ARROW PANEL	Other Item Adjustment	PPPS	1	Jul 17, 2020	kinga1	\$1,500.00	Payment made for completed work. Working with Materials and QC to resolve exception related to system-generated deduction.
			PPPS - Tota	ıl			\$1,500.00	
	Other Item Adjustment - Total				\$1,500.00			
0350 -	Total						\$0.00	
0370	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material		1	Jul 17, 2020	SYSTEM	(\$8,650.00)	
	TORNISHED, CONTRACTOR RETAINED			2	Aug 3, 2020	SYSTEM	(\$8,650.00)	
				(\$17,300.00)				
	Material - Total						(\$17,300.00)	
	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	MaterialCredit		2	Aug 3, 2020	SYSTEM	\$8,650.00	
		- Total				\$8,650.00		
	MaterialCredit - Total						\$8,650.00	
	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Other Item Adjustment	PPPS	1	Jul 17, 2020	kinga1	\$8,650.00	Payment made for completed work. Working with Materials and QC to resolve exception related to system-generated deduction.
		PPPS - Tota	ıl			\$8,650.00		
	Other Item Adjustment - Total						\$8,650.00	
0370 -	Total						\$0.00	
0940	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		2	Aug 3, 2020	SYSTEM	(\$6,889.27)	
		- Total				(\$6,889.27)		
	Material - Total					(\$6,889.27)		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Other Item Adjustment	PPPS - Tota		Aug 3, 2020	kinga1	\$6,889.27	Payment made for completed work. Working with Materials and QC to resolve exception related to system-generated deduction.
				\$6,889.27				
	Other Item Adjustment - Total						\$6,889.27	
0940 -	Total						\$0.00	
Overa	II - Total		(\$90,288.78)					

Revision 4/1/2020 Page 12 of 12